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Problem quickname: 3140

1)
Quick:
3140

Only one statement is true for each drawing. Which one?

a)

Z

A
A’

C’C

B’B
×
|ZA|
|AA′| = |CC′|

|ZC|
√ |BB′|
|AA′| = |ZB′|

|ZA′|

b)

Z
A

A’

C’ C

B’
B

√ |AC|
|A′C′| = |ZA|

|ZA′|

×
|AA′|
|ZA′| = |ZC′|

|CC′|

c) Z

A

A’ C’

C B’B
×
|CC′|
|ZC| = |ZB|

|BB′|
√ |AA′|
|BB′| = |ZA|

|ZB|

d)

Z

ACB

Z

A’C’
B’

√|B′C′|
|BC| = |A′C′|

|AC|

×
|CC′|
|ZC| = |ZB|

|BB′|

2)
Quick:
3140

Which statements are true? Check them.

a)

Z

A
A’

C’C

B’
B

√|B′C′|
|BC| = |ZB′|

|ZB|
√ |ZC|
|CC′| = |ZB|

|BB′|

×
|A′C′|
|AC| = |AB|

|A′B′|
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b) Z

A

A’ C’

C

B’

B

√|ZB|
|ZA| = |ZB′|

|ZA′|
√ |ZC|
|ZC′| = |ZB|

|ZB′|

×
|A′C′|
|AC| = |ZC|

|ZC′|

c)

Z
AA’

C’
C

B’

B

×
|A′C′|
|AC| = |ZC|

|ZC′|
√ |AC|
|A′C′| = |ZA|

|ZA′|
√ |ZC′|
|ZC| = |ZB′|

|ZB|

d) Z

A

A’

C’
C B’

B

√ |AB|
|A′B′| = |ZB|

|ZB′|

×
|CC′|
|BB′| = |ZB|

|ZC|

×
|AB|
|A′B′| = |ZA′|

|ZA|
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3)
Quick:
3140

Which statements are true? Check them.

a)

W

I

I’

K’

K

√|W K|
|W I| = |W K′|

|W I′|

×
|W I|
|W K| = |W K′|

|W I′|
√ |KK′|
|II′| = |W K′|

|W I′|
√ |W I|
|II′| = |W K|

|KK′|

b) S

L

L’

C’
C

×
|SL|
|CC′| = |SL′|

|L′C′|
√ |LL′|
|CC′| = |SL′|

|SC′|
√ |SL′|
|LL′| = |SC′|

|CC′|
√ |LL′|
|CC′| = |SL|

|SC|

c)

M

O

O’

Q’

Q

×
|QQ′|
|OO′| = |MO′|

|MQ′|
√ |OO′|
|QQ′| = |MO′|

|MQ′|
√ |MO|
|OO′| = |MQ|

|QQ′|

×
|MO|
|MO′| = |MQ′|

|MQ|

d)

V

B

B’
W’

W

×
|V B|
|V W | = |V W ′|

|V B′|
√ |V B′|
|V B| = |V W ′|

|V W |

×
|W W ′|
|V B| = |B′W ′|

|V B′|

×
|BB′|
|W W ′| = |V W ′|

|V B′|
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4)
Quick:
3140

Which statements are true? Check them.

a)

W

CA

W

C’ A’

√ |AA′|
|CC′| = |W A|

|W C|

×
|AA′|
|W C| = |C′A′|

|W C′|
√ |W C|
|W C′| = |W A|

|W A′|

×
|W C′|
|CC′| = |AA′|

|W A′|

b)

D

E

U

D
E’

U’

×
|UU′|
|EE′| = |DE|

|DU|

×
|EE′|
|UU′| = |DU′|

|DE′|

×
|DE′|
|EE′| = |UU′|

|DU′|
√ |EE′|
|DE′| = |UU′|

|DU′|

c)

H

O

J
H

O’

J’

√ |OO′|
|HO′| = |JJ′|

|HJ′|

×
|HJ|
|HO| = |HO′|

|HJ′|
√ |HJ|
|HO| = |HJ′|

|HO′|
√ |OO′|
|HO| = |JJ′|

|HJ|

d)

Y
L

N

Y

L’

N’

√|NN′|
|LL′| = |Y N′|

|Y L′|
√ |Y L|
|LL′| = |Y N|

|NN′|
√ |LL′|
|NN′| = |Y L|

|Y N|

×
|Y L|
|Y L′| = |Y N′|

|Y N|

Good Luck!
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